
 

What calculation can you do to work out how 

many coins Ruby has? 

Can you draw a bar model to represent the 

problem? 

As Ruby has twice as many, we know we 

need to double the amount of coins Elliot 

has.  

We already know Elliot has 8 coins.   



 

We don’t know how many coins Lulu has, 

but we do know that Sam has 6 coins.  

We also know that Sam has 3 times as 

many coins as Lulu. That must mean we 

need to do the calculation: 6÷3 = 2. 

Now, have a go at the guided practice. First try to 

draw a bar model to represent the problem. Then 

have a think about what calculation you need to 

do. Do you need to multiply or divide?  



 



 



 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 



 


